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coordinate of point Q?

<fp@>P (1, -2)M > x+y - 3= Ot frgQ s o

<fEH7>

L y=-—x+3 o qr e y=x+br i P(1,-2)

s=2=1+bb=-3 s y=x-3

y=x—-3px+y-3=0z22.M (3, 0)

ExQ(m, n)

m+1 n—2

:3, — N
2 m=>:

=0, n=2,0s1:( 2)

International Mathematics Contest (TAIWAN) £48/#E88



2.5 1 frden @ 18 n[20202017% +1]=2020[nv2017> +1] & = > B] % £ & Fchn
¥ B oo ([X]=7F 3t x chd % £ #K)
<fR4r>

2020 x 2017 < 20204/2017% +1 < 2020><\/(2017 +ﬁ)2 <2020x2017 +1
X

- [2020~/2017% +1] = 2020 x 2017
£ =2020 %2017 x 11 = 2020[nv 20172 +1] 201771 =[nv2017% +1]

520177 <ny20172 +1<2017n+13 1% - (20177 +1) < (20171 + 1)’

n’2017% +n? <2017%*n* +4034n +1

Zn(n—4034)<1 > n=1, 2, 3, 4, 5eoreeeeee , 4034 £ 4034 B E iz
3Rz g (=3,7) > (46) > 3 - ehRlen 4250 5 °
<f%47>

B A2t 2 X+ +dotey+ f=0
-3d+Te+ f+58=0

4d +6e+ f+52=0

3d—e+ f+10=0

#d=0>e=-6 > f=-16

X+ —6y—-16=0

4. ot FHcx ~ VA &2x2—xy—y2=2019 s Pl 2Xx—y i) B & o
<fE{7>

2x° —xy—»>=2019> 2x+ y)(x— y)=2019 .

L2x+y=m > x—y=npm-~n>0_r mn=2019

m+n
X =
< 3 oo, _mtAn_ 24mn _ 42019
15'}?2#’ m-2n ° .. X—=)V= 3 = 3 - 3
Y=

International Mathematics Contest (TAIWAN) £H8/HE8H3



5. 1RAATERFE2024 B0 FE 10X A K= X Bdh o KX AL -
AA RS F e E - R AEFCN30OB 0 FZAFAELF - Aok
%é_’g_i’f\-’” 7_ 1% HhE — %‘?’Kkau%%mé_f_L—fr, =)

B o

<f&47>

“a, =230

Lay=ata, s a,=a,tay, .. a,=4ag;+a,

sSu=atayta Tho = (1+1+1+2+3+5+8+13+21)a, +
(1+1+24+3+5+8+13+21+34)aq,

. 55a, +88a, =2024 & 5a, +8a, =184 - a, =32 , a,=3

e ay =32+3=35 (K4EiEN)

6. = F sdcy=ax"+12x+b » F x=-2pF > y 4 B E-5 plab=
<f%47>
iﬁ;{y:a(x+2)2—5-)y:ax2+4ax+4a—5.g'i?y:ax2+12x+b

Wik thicda=12 > a=3 > b=3x4-5=7

Zab=3x7=21

7. JCh X% 1 312020 52020 BHCF ¢ 0 WA AL HR 0 R A
4R GAS R ik B o
<f%47>

2020+2=1010 » 2020+3=673....1 » 2020+5=404
2020+6=336....4 » 2020+10=202 - 2020+15=134....10
2020+30=67.....10
2020-1010-673-404+336+202+134-67=538

International Mathematics Contest (TAIWAN)

38

FEOBE/HKEE



8. Ifk is a real number. The diagram of y=kx"+k is underneath the diagram of
y=-x. What is the range of k?
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